1 SHIEDEBE

(ER24F4R818R%E)

vy HE A& B —HEBMES H OB X B % 22 - n = 42,221
M mm | me w B w % L 46 5 = 561
&t 7] |T N | & R % 62| 100MLLE 186
g HBERH (55X M) 2,701(33) A [;i- 60~100m % 520
42| 15 7 O EREOE &2 20 A| X oK Y 7,221

(E&E2) 25 6 18 1 - |E-EED i 40~ 60OmF i '
Z |7 RE(E-BR) 2 A 20~40m ki 1,944
B 2 B B % 1,707 A # = 3,127
& & 10,621. 17 km BMagmtH(E®RSE) 526 A 3 ) ftt 2,016
22 & A A O(EE®) 2,081,147 A H B 24 46 3y 0. 31 Kl
24.3.31 | & # A O 2,068,942 Al # |9 # 453 M| 1 FAER &% 0 K
24.3.31 | £ &t F ¥ 757, 371 {3 EH B E N E AN 20. 924 A ié & B = T =z i #i 26. 22 K
N N caomt SbREHEFER) (334 A) Tk m o om om oA ok ®m 1 26 K
X 7| EBAAE-E| B ?;i K OB M % K OB A s ok =EOE| 0. 94 K
B kK % 4184 EBEHEBRCTEHE 66 432| A oo H K H #5378 223 K
PR S 34t KZESHHEHBBEBE 100 4 %478 O ki

k% . ERRUEMSE

- T T [BERAERES e - e o
o T 0t kK 2001 B lmyLcmupans o _ % |7 L E & 18 ET B 2
g = aop| g |(K¥THTHELEEEED) % = m _
~ & 5 & 85A| » [k % K I B BB 20 - | % 55 24B4 RIAHI D0 -
Hle m ® ” 5 @ 21.776m| 7 |w = B8 B = . Blx x = m ® B & i 305 B
Bl #w & B8 % B W 2,315m| 8 |((PBERBEHER) (125) = |y B 5 : 82 [E#
55 | (o3 - 6148 B |45 = B 52 20 it A B B 489 [EIfR
Y ® 1 = £ 355tH| = (B OB I O = 33 — # 2 15 = = B -
KoK 2 Kk % & F | 1,736 620FH| ¥ |NEFPARUITLFEEE 2 1,023 H OB OB ®m M R R OE [ E 1] 30,884, 339FH
Hok B (ABQ1TAANHRLY) 4. 05| B [rzmsrfe@@cHBLTOENLD) 43 193 if’ H B & B m b R E # [ F ]/795 380, 131FH
S 2 # # 79,563 #| A |F 51 B A K v T 0 200 E (BB EMBRANRSP OB %F0E [ G ] 27 381 469FH
23 % | & # 49, 129 #| # | # = 63 8| o [H W EIF5ZE%EHMBEEBIHI 29 007 579FA
ﬁ X B F M 9, 640 E R B o = 3 2 /g EERREREBELHEABEDFG(E]/[F] x 100 3. 9%
i i ii_ A g8 75,773 A 2 # & & = 39 18 g HEREFRREALEMBFREDEE[(G]/[H] x 100 93. 44
5 5 | & # 45,980 A XK & 5 = 21 12 |A 01 A%yl &ELE ] /2210 14, 840/
X B F M 10, 416 A T oMt o E@WF 85 18 AD1#EHE S LY ERELIE] /22101 41, 897H

CEH AR - Baf BRI FR23ET



